0-3 Data Distributions

S.ID.2 Use statistics appropriate to the shape of the data distribution to compare center (median, mean)
and spread (interquartile range, standard deviation) of two or more different data sets.

A measure of central tendency describes the center of a set of data.

Measures of central tendency include the mean, median, and mode.

MEAN - The [)VFY'(OP of the data values.
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MEDIAN - The ’M DD/ E value of the data values. The values MUST

be put in humerical order. If there are amber of values

then the median is the mean of the Z middle numbers.

EX. 100, 88, 85, 95, 98, 93, 35, 90, 95
35,85, 38,90,3) 95,95, 98, 100
MODE -  The values that occur MpST O ETE AJ . A data set may

have one mode or more than one mode. If no value occurs more
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often than another, the data set has B@ mode.
EX. 100, 88, 85, 98, 93, 35, 90,

RANGE - Thepb‘) F FERENCE between the&? EA_'TE’_STand [EART
values in the set.
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Find the Mean, Median, Mode, and Range of a Data Set

The numbers of hours Isaac did homework on six days are 3, 8, 4, 6, 5, and 4.
Find the mean, median, mode, and range of the data set.
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Determining the effects of outliers

Identify the outlier in the data set {7, 10{54/9, 12, 8, 5}, and determine how the
outlier affects the mean, median, mode, and range of the data.
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Stu Dent scored 70, 74, 72, 71, 73 and 96 on his six geometry tests. Find the
mean, median, or mode.

1. Which measure gives Stu's test average? Hea ﬂ

2. Which measure best describes Stu's typical score? Explain.. 2 4

Median.. The. X IS )
3. What is the mode? ;\(/A_ W# ¢ outlies
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Mode: N®
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Measures of central tendency describe how data cluster around one value.
Another way to describe a data set is by its spread -- how the-dta values are
spread out from the center.

QUARTILES - divide a data set into ‘ equal parts. Each quartile

contains 4\’ /ﬁ of the vaIueA quartile is a
/\/MI‘/MNOT a range.

1st QUARTILE - The Hé«b)é/\(of theébwe R #ﬁéé the data set.

2nd QUARTILE - The EDBIAN of the data set.

3rd QUARTILE - TheMe D/@/\/if thﬂ(opgﬁ #/?ZFof the data set.

INTERQUARTILE
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BOX-AND-WHISKER PLOT - Shows how the values in a data set are

BRox Plot" DISTRIBUTED

To create a Box-and-Whisker plot you will need the 5 STATISTICAL SUMMARIES:
1. Minimum

1st Quartile

Median‘Q 2
3rd Quartile

@ b

Maximum



The numbers of runs scored by a softball team ini20 games are given.

Use the data to make a box-and-whisker plot.
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The box-and-whisker plots show the ticket sales, in millions of dollars, of the

top 25 movies in 2000 and 2007 (for the U.S. only)
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1. h|c dita sg]ﬁsagr ater median? Explain. .\. P m
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2. Which data set has a greater inte rquartlle range? Explain.
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3. About how much more were the ticket sales for the top movie than
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5. About how much more was tht sales for the top 25

movies in 2007 than in 20007 4
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